RS : ESERIRIRIE

i 2= T s 2 B A PRISANE (KIBHR) |

SEH3L Q
T
fEREd
m
n (N8} F]
[ I
AW TR
o -
Iz -9
E|B H
M Ln M w
e | B2 | R | REEE |miEa EABREES |80 | BERY
IRIE AR o Br | BET WREE| mm | N sx oo
X HEETE | BEETE R
d ! D. d. d 5% C. ) % p
RNFCL 1212A3 1.7x2 3740 | 6640
RNFCL 1212A6 12 12 2.381 12.65 10.1 T | e 010 | 26
*2:igt ::;g:gs 15 20 3.175 15.5 12.2 1.7x2 6730 | 12300 [0.10 | 33
*
2:::gt :g:g:;s 1.7%2 5430 | 10400
*RNFCLi616A6 |1 1© 16 2778 | 16.65 13.5 010 | 32
*RNFCL 1616A6
RNFCL 1616A6S 1.7x4 | 9860 | 20800
*RNFCL 2020A
RNFgL 2328/\35 1.7x2 7810 | 16500
*RNFCL 2020A6 | 20 20 3.175 20.75 17.3 0.10 39
RNFCL 2020A6S 1.7x4 | 14200 | 33000
*RNFCL 2525A
RNFgL 2222;\35 1.7x2 | 11700 | 25800
*RNECL 2525A6 | 25 25 3.969 26 22.0 0.12 47
RNFCL 2525A6S 1.7x4 | 21200 | 51500
*RNF
RNth g:g;:gs 1.7x2 | 17100 | 40500
*RNFCL 3232A6 | 32 32 4.762 33.25 28.0 0.15 58
RNFCL 3232A6S 1.7x4 | 31000 | 81000
*RNFCL 4040A
RNth 4843;\25 1.7x2 | 27200 | 67900
*RNFCL 4040A6 | 40 40 6.35 41.75 35.0 0.20 73
*RNFCL 4040A6
RNFCL 4040A6S 1.7x4 | 49300 | 136000
*R
n:igt ggggﬁgs 1.7x2 | 40600 | 106000
*RNFCL 5050A6 | 50 50 7.938 52.25 44.0 0.25 90
RNFCL 5050A6S 1.7x4 | 73700 | 212000
fifiak = 1 SRR RARE RN L B ZLs R MR —u -
2. I > 1557 BRHR A A ROE Bl - 2 Wiiet R 5 s RO AR il

3. BRI AR AR Lz o (R RARERRAR AR FER A1 00mm R T 5 HEZ (8 o

B269




| IRIEHAERNFCL NSK |

-—————rﬂa“\‘;‘\ /| o

WAAVWAAAAMANAY WAAAMAAVAY

Odm
dd,
< %
|
|
|
::::F:::
|
od

Ls
BT : mm
IRBRY g | RIS A
S 2K TR, | bma R | NE|AE | BEREHEE | @20 | g
AlH | B|lEJL M| w [ x| a [7|ke d | d L, WEE | ()
44 | 28 | 6 9 30| - |35 |45 |M3x05(3.0/0.12|10.1] 8.1| 400 800 RS1212A**| 0.74
51|35 |10 | 11 | 45 ; 42 | 45| M6x1 |5.0(0.2812.2|10.2| 500 1000 1500 |[RS1520A **| 1.15
53 |34 |10 | 10| 38 i 42 | 45| M6x1 |5.0|0.23(13.5|11.5| 500 1000 1500 [RS1616A**| 1.37
3
62 | 41 | 10 |11.5| 46 E 50 | 55| M6x1 |5.0/0.37|17.3|14.9| 500 1000 2000 |RS2020A **| 2.19
3
74 | 49 |12 | 13 | 55 :_3 60 | 6.6 | M6x1 |6.0|0.62|22.0|19.6 1000 2000 2500 |[RS2525A**| 3.43
3
92 |60 |12 | 16 | 70 3 74 | 9 | M6x1 |55|1.10|28.0|25.6 1000 2000 3000 |[RS3232A**| 5.71
3
114 | 75 | 15 |19.5| 85 3;5 93 | 11 | M6Xx1 |6.5|2.09|35.0|31.8|/2000 3000 4000 [RS4040A**| 8.82
3.5
135/ 92 | 20 |21.5| 107 3;5 112 | 14 | M6x1 |7.0 |3.90 | 44.0| 40.8 | 2000 3000 4000 |RS5050A **| 13.81
3.5

(i3 4. FAERLI AT T RITIN L o ARIEE = BK - n] IR B I A7 2R I
5. EE AR IRIE R RIGR 2 XMIRST o RN R B
6. "x GEEATIEA AL

B270



